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4 (Sem-6/CBCS) HE 1 (FOI)

2022
COMMERCE
( Honours Elective)
Paper : COM-HE-6016
( Fundamentals of Investment)
Full Marks : 80
Time : Three hours

- The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : {any ten
questions ) 1x10=10

RO wore fra R Ses 311 ¢ (R w2t

(a) Write the full form of NIFTY.
NIFTY ¥ i o1 feradt |

'Cbntd.



(b) State whether the following statement
is ‘True’ or ‘False’ :
Ood AR ST (7 HIF ol 8

Investment in equity is safer than
bank fixed deposit.

ﬂﬂkﬁﬁ@(ﬁ§ﬁﬁ)ﬁﬁmmmta«¢a=mﬁr@wr?¢
@fz [aem |

(c) “The basic objective of investor is to

minimize the risk and maximize the
return on investment.” Write whether

the statement is ‘True’ or ‘False’.

“SENN  Romie o A A o
NORE T [k @ a9 a3
TS0 wF @ ST &

(d) Who is the regulatory authority of
Indian stock market ?

SO W &I [EgasRt wigsit @9 2

(e) In India, mutual fund scheme was first

started in
@mmmseﬁmJEiws§m1éﬁ§<wmﬁiwmﬁstﬁ%ﬁ
() 1964

YOLS
(i) 1987

Yo
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(uy) 1992
203

(iv)] None of the above
B9F OIS wZH
( Choose the correct alternative )
(7 RIFCo! A5 Tlesar)
() Write the full form of CRISIL.
CRISIL I #«f T=ito! i
(g) Give an example of zero coupon bond.
o goim a3 @ft Twizad v |
(h) Which one of the following is the first
public sector mutual fund in India ?

e (@NG oo’ YN TR IR
Trzenl offEr
() SBI Mutual Fund
«5. R. =i, Tome &
(i) Canbank Mutual Fund
@RS Tzl ff&

(iii) UTI Mutual Fund

2o, o =iz, Srwmshn ffe
(ivy HDFC Mutual Fund
@35, . aw. f. Tre i S
( Choose the correct alternative )
(&% [Feweo! I Blsdr)
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(i) “Share prices on stock exchanges are
determined by SEBI”. Write whether
the statement is ‘True’ or ‘False’.

‘03 R (o 4 = SEBII @&l
fdifte = 3 R w7 @ swF @

() Which of the following features is not

associated with the open-ended
mutual fund ?

e (@ RS Je-vifime Stuzeim

sffeR Fre wive F= 2
(i) It has a fixed maturity period.
2R ot B Rdilke IE i)

(ii) The investors can subscribe their
fund at any time.

(iii) It provides prompt liquidity to
investors.

2 RIS o ©ie) aviA
ISR
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(iv) The investors have an option to
redeem their holding at any time.

BRI REEE RS (S8R
¥ Y 71 A
( Choose the correct alternative )

(&% Rescor qif Bfersdr)

(k) ‘‘Security market is a market for
equity, debts and-derivatives.” Write
whether the statement is True or False.

“oifoofe IR To AN, Hloiq % LS
ARl TR 1 G2 TS0 wm 7 SeE Tl

() Which of the following is the oldest
stock exchange of India ?

@™ ?

(i) Calcuta Stock Exchange
Ferrel 3% [iRwm @

(i) Ahmedabad Stock Exchange
w8 [N m

(iiij Bombay Stock Exchange.
@R BT R ™
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(iv) Gauhati Stock Exchange
(TGt s R om

(m) On which data SEBI introduced
compulsory trading of shares of listed
companies in ‘DEMAT’ form ?

‘GRY TR @0 SiRYe ST @O
s Tfo IATS JFOrETT 34 = ?

(i) 1st January, 2016

(ii) 1st April, 2017
(iii) 1st January, 2018

(iv) 1st April, 2019
( Choose the correct alternative )

(&% [Fseor I Cleedr)

(n) Which of the following is the feature of
derivative ?

fafeiRe @mor @Reets / Tgs afb®
ey =

(i) It is an instrument whose value
depends upon the value of some
underlying assets.

3 51 wRE IR T @I SRS
ART>MI I @S WS T |
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(i) It arises out of a contract between
the two parties.

3@1%5&?%%@1?&11

(iii) It may be of financial or
commodity derivatives.

2 7€ I BT TES A =] A |
(iv) All of the above
e A PEGED]

( Choose the correct alternative )

(&% (P50 Ao Tleresr)

(o) Securities and Exchange Board of
India (SEBI) was constituted in the
year

Eﬁqsﬁlﬁf;ﬂl“ﬁﬁhﬁlﬁﬁ@ LTI
157 (2 |
i) 1988
Sobb
(i) 2002
3003
(iti) 1992
YT
(iv) 2000

{000
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2. Answer any five questions of the following
in about 50 words each : 2x5=10

o ezl “lshT 2] ST A @o Bl IH 13
oo T 39 8

(a) Give the meaning of investment.

RicmsR wd =g |

(b) What is bond yield ?
G T T2

(c) Write a note or price earning ratio.

P.E. Sgeed (GBI &l

(d) Mention two characteristics of
investment.

RifcaisR 707 ARy Srmd |

(e) Give the meaning of bonus share.

5 SR wY Jwi A

() What is commodity derivative ?

TS s A [ 2
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(g9 What is meant by insider trading ?
fowsae e Jferea & = 2

(h) Define NAV.
NAV I J&@t w3t

3. Answer any four questions of the following
in about 150 words each : Sx4=20

weR Ricdiet bifb) 2% Aro Al S¢obl TN
g fooge Tex & 3

(a) Write any five features of equity share.

35351 QR T e #isor @Ry o

(b) Distinguish between financial assets
and physical assets.

FE TS =% *NNR[S TS Moo Ly
GRIN

(c) Discuss the importance of
fundamental analysis.

G Reigae @39 SEDA 70 |

(d) Write the features of bonds.
Io] CAREy feral|
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(e) Briefly discuss the two types of bond
yield.

73 AIEE IS T SCFCA DA 4 |

() Write a note on efficient market
hypothesis.

I TR RAF erige At (G &t

(g) Explain different types of financial
derivatives.

Rfen oors [REm | [y 0|

(h) Distinguish between open-ended
mutual fund and close-ended mutual
fund.

TSR Tevgo il ff& w< 3%
ﬁmm%ﬁ@ml

4. Answer any four questions of the following
in about 600 words each : 10x4=40

o] Rl bIfIb) 2R ATOIRE &Y voo B W
W] fooge el 9 ¢

(a) What do you mean by investment
decision process ? Discuss various
steps involved in an investment
decision process.
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R s smafe I & 3o @ Risca
e smfce wfts Rfen  smrwermRz
SCEoAl B | -

(b) What is real estate ? Discuss various
types of real estate properties in India.

2+8=10

e @ E6 & 2 oRe] [(fon e K=
G(B5 WifeThRy [T SCAnA 340 |

(c) Define financial derivative. Discuss the

features of financial derivative.
2+8=10

ﬁ@ﬂwmﬂwﬁmnﬁ@n%@aﬁa
ANBRTR SEeAl 11|

(d) What is bond ? Explain different types
of bonds. 2+8=10

I 5 2 RSy oo I=omg I =)

(e) Briefly discuss about various market
participants in the Indian securities
market.

orel ofvefs wmey Rfem weiazel
e R o3Ld A 1 |
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() What is technical analysis ? Explain
various assumptions of technical

analysis. 2+8=10
iR el & 2 IR Ko (=eApTR
I A

(g) Discuss the role played by the SEBI in
investor protectmn

R FTFR (Fd (&R (SEBI)Ta'Yz‘ﬁ?ﬂ
DA F9 |

() What is meant by mutual fund ?
Explain its advantages and
disadvantages. 2+8=10
Terer e I [ g 2 2 R O
SRYIR I |

() Explain the major advantages and
disadvantages of investing in bonds.

T R e FJRd SR SPIRETR 3
5 N

() In which year SEBI came into effect ?
Also point out the principal functions

of SEBL : - 2+8=10
TROS (R (oA TSI Tl oAz 2 (]S
o SfieeT e 59 |
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